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(1 www.toefleasy.com O L1 O [1 O According to the conversation,
the man/woman apparently opposes(supports) the idea in the
reading passage. He/she gave 2 reasons for that. The first one is that
XXX. Theotheroneisthat XXX. U O O OO OO OdOoOOodn
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concept in the reading passage (which is called xxx. It means that
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OO00000000 Helshe gave 1/2 example(s) to illustrate its
benefit. In the first example, xxx. In the second example xxx. The
result is that xxx. L1 He/she gave 1/2 example(s) to illustrate how to
take advantage of xxx. In the firstl] [ . [ xxx has its benefits in two
ways. On the one hand, xxx. On the other hand xxx. [ [0 200 [ [
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illustrate that. In the first example xxx. In the second example xxx. [
[ He gave an example to illustrate that. In the example, xxx. On the
one hand xxx. On the other hand xxx. U [0 40 OO O 0O 10 O O /O
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OO000000000 Hegave 2 examples to illustrate them
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xxX. The only difference is xxx. [J [J [ the subjects in the first group
are told to do xxx. But the second group are not told so. (1 [J [J [
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conversation, the man is having a problem. He is doing/planning to
do/has done XXX. However xxx. (U U O 0100010000 O
Do000o0ood®* 0000 problemd™ ) There are 2
solutionsforthat. (U U O OO O OO OO OO ) The first one is
that xxx. The second is that xxx. | think he should xxx. Because xxx.
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